MIRROR JEWELLERY CABINET



WINDOWS
Rectangle


Accessories list <w..

Jewelry cabinet

\\E\/ | Smack

M

Motherboa .

compartment

Support strips

Back compartment

@ Long screw(6*30mm) 6 Pcs
The key 1 Pcs
@ Long cross screw assembly (5*20mm) 4 Pcs
@ Short cross screw assembly (5*8mm) 4 Pcs
@ Bolt driver 1 Pcs
(F Wheel 4 Pcs
@ % Acrylic left and right accessories 14 Pcs
@ \ Acrylic spacer 5 Pcs
@ ' Screw (3.5*12mm) 16 Pcs
@ Self tapping wire(3x16mm) 1 Pcs

@ gumens | Colloidal granules/Self tapping wire(4x45mm) | 1 Pcs

@ Anti-rewind (290mm) 1 Pcs




o) X 4

Step 1 ]

@(X) (3.5%1 2mm) X 1 6
bI{ W, (6*30mm) X 2

Press the
wheel lock

Step 2 ]

Battery installation
(Tip: use 3 AAA Batteries)

D>

S Ly=

\\\ / Acrylic layer can
J be adjusted

|| according to

individual needs

B
- W
[~

.‘.'\




5 x4

D
X1|©|2§ e X 4
®

314 WD, (6* 30mm ) X 2

¥ e 0T g
7 N




